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SECTION - A 

Choose the most appropriate alternative. 

	

1. 	All of the following are common characteristics of experimental research except : 

(1) it relies primarily on collection of numerical data 

(2) it leads always to cause and effect relationship 

(3) it is based on deductive logic 

(4) it is rarely conducted in a controlled experiment settings 

	

2. 	Which of the following groups relate to quantitative variable ? 

(1) age, income, height 

(2) grade point, anxiety level, happiness 

(3) gender, religion, ethnicity 

(4) none of the above 

	

3. 	Which of the following is a nominal variable ? 

(1) age 
	

(2) monthly income 

(3) religion 
	

(4) grade point average 

	

4. 	The correlation between intelligence test scores and grades is expected to be : 

(1) perfect 	(2) negative 	(3) positive 	(4) zero 

	

5. 	Which of the following is not true about stratified random sampling ? 

(1) Selection process from strata are random 

(2) Proportions of groups in sample must be same as proportions of groups in the population 

(3) Disproportional stratified random sampling is often helpful 

(4) Proportional stratified random sample is always representative of the population 

	

6. 	People who are available, volunteer or can be easily approached are used in the sampling 
method called 	 

(1) Simple random sampling 	(2) Cluster sampling 

(3). Multi-stage sampling 	 (4) Convenience sampling 

	

7. 	Which of the following sampling method is likely to be more representative of the 
population ? 

(1) A large sample based on convenience sampling 

(2) A large sample based on simple random sampling 

(3) A small sample based on simple random sampling 

(4) A small cluster sample 
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8. In which of the following, every Kth unit is included in a sample ? 
(1) Simple random sampling 	(2) Snowball sampling 
(3) Cluster sampling 	 (4) Systematic random sampling 

9. Which of the following shows the proportion of variance shared between two 
variables ? 
(1) standard error 	 (2) correlation 
(3) coefficient of determination 	(4) t-ratio 

10. An essential criterion of scientific study is : 
(1) belief 	 (2) value 
(3) subjectivity 	 (4) objectivity 

11. Reasoning from general to particular is called : 
(1) induction 
(3) experimentation 

12. Empirically verifiable observation is : 
(1) Theory 
(3) Fact 

(2) deduction 
(4) observation 

(2) Value 
(4) Hypothesis 

13. Which of the following sequence could represent deductive method of reasoning ? 
(1) Theory, hypothesis, observation, confirmation 
(2) Observation, pattern, hypothesis, theory 
(3) Sampling, data analysis, estimation, interpretation 
(4) Hypothesis, data, analysis 

14. As we increase the level of significance (say 1% to 5%) the confidence interval will : 
(1) not change 	 (2) narrow down 
(3) become wider 	 (4) sample size will increase 

15. What is the standard deviation of a sampling distribution called ? 
(1) sampling error 	 (2) non-sampling error 
(3) standard error 	 (4) t-ratio 

16. We fail to reject the null hypothesis when it is actually false, there is : 
(1) Type I error 	 (2) Type II error 
(3) Sampling error 	 (4) Non-sampling error 

17. As sample size goes up, what will happen to confidence interval ? 
(1) it narrows down 	 (2) it becomes wider 
(3) it remains unchanged 	 (4) it becomes irrelevant 
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18. To draw conclusions about population on the basis of sample data is referred to as : 
(1) descriptive statistics 

	
(2) demography 

(3) secondary data 
	

(4) inferential statistics 

19. In a regression results, a higher p-value indicates a stronger relationship between the variables. 
The above statement is 
(1) True 	 (2) False 
(3) Cannot say 	 (4) Could be anything 

20. If the error terms "u t" in a regression model are given by the equation u t  = aut . ].  + Xt  then 
there is a possibility of 	 in the model. 
(1) multicollinearity 	 (2) heteroscedasticity 
(3) autocorrelation 	 (4) exogeneity 

SECTION - B 

Choose the most appropriate alternative. 

21. The indirect utility function is given by v 	p2 , m) — 	. The Marshallian demand 
Pi +P2 

functions MTh!  132, m) are given by : 

(1) 

(3 ) 

m 
	 for i =1, 2 
Pi +P2 
h(pi, 132, u) 

(2) u(Pi,  P2) 

(4) none of the above 

22. A competitive equilibrium in pareto efficient if : 
(1) one firm in a monopolist 

	
(2) there are externalities 

(3) lump sum taxes are imposed 
	

(4) none of the above 

23. Two firms are competing in a market with demand function Q = 200 — p. The firms have an 
identical cost function C(q) =80q —1000. The Cournot market solution for output is 
(1) 60 
	

(2) 40 
(3) 120 
	

(4) none of the above 

24. Consider two lotteries, A and B. With lottery A there is a 20% chance that you will receive 
80, a 50% chance that you will receive 40 and a 30% chance that you will receive 10. With 

- lottery B, there is a 40% chance that you will receive 30, a 30% chance that you will receive 
40 and a 30% chance that you will receive 50. The expected value and variance of lottery A 
and lottery B are : 
(1) EVA  = 31, EVB  =49, VarA  =519, VarB  = 70 
(2) EVA  =39, EVB  =39, VarA  =589, VarB  = 69 
(3) EVA  93, EVB  =93, VarA  =958, VarB  =96 
(4) none of the above 
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25. Consider two airlines public (P) and private (PV), each deciding to offer discount (D) or no 
discounts (ND) to its travellers. The annual profits from each strategy are given below : 

Airline (PV) 

D ND 

D 200,100 340, 80 

ND 160, 280 240, 200 

The Nash equilibrium of the game is : 
(1) D, D 
	

(2) D, ND 
(3) ND, ND 
	

(4) none of the above 

26. Suppose country A pursues an expansionary monetary policy. This could result in : 
(1) appreciation of currency of A 
(2) no effect on exchange rate 
(3) depreciation in currency of other countries 
(4) depreciation of currency of A 

27. As an economy tends to reach its potential GDP level, its short run aggregate supply curve : 
(1) becomes flatter 	 (2) becomes steeper 
(3) shifts to right 	 (4) shifts to left 

28. Suppose it is announced that oil supplies from the Gulf will cause petrol prices to rise in the 
next month. In the current week, the announcement would : 
(1) shift demand curve of petrol to right 
(2) shift the demand curve of petrol to left 
(3) shift the supply curve of petrol to right 
(4) have no effect on supply or demand curves of petrol 

29. The Solow model predicts that : 
(1) rich nations will grow faster than poor nations 
(2) poor nations will grow faster than rich nations 
(3) all nations will grow at the same rate 
,(4) none of the above 

30. If, there is perfect income equality in a country, the Gini coefficient will be : 
(a) infinity 	(2) 	zero 	 (3) 0.5 	 (4) 	1.0 

31. The Levis model of the dual economy suggests : 
(1) transformation of the economy 
(2) perpetuation of duality 
(3) no possibility of economic development 
(4) none of the above 
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32. The reason that so many economic activities create externalities is that : 
(1) free riders exist 
(2) third parties become involved in decision-making 
(3) special-interest groups lobby for them 
(4) property rights are poorly defined 

33. Which of the following is an example of portfolio investment ? 
(1) An American places funds in a savings account in Canada 
(2) Tokyo Bank of Japan buys Union Bank of the US 
(3) Tech Mahindra Ltd. acquires UK-based Bio Agency 
(4) An American buys stock worth $ 10,000 in the Indian stock market 

34. Given a system of floating exchange rates, falling income in India would lead to : 
(1) increase in imports as well as demand for foreign currency 
(2) increase in imports but decrease in demand for foreign currency 
(3) decrease in imports and decrease in demand for foreign currency 
(4) decrease in imports but increase in demand for foreign currency 

35. A tax imposed on monopoly profits : 
(1) Can be shifted forward 
(2) Can be shifted backward 
(3) Can be shifted both forward and backward 
(4) Cannot be shifted 

36. Two cards are randomly drawn from a deck of 52 cards. The probability that both the cards 
are greater than 3 and less than 8 is : 
(1) 20/221 	(2) 8/52 	 (3) 16/52 	(4) 32/52 

37. Integrals which we find out through the process of anti-derivative of a function f (x) is 
called : 
(1) indefinite integral 	 (2) finite integral 
(3) infinite integral 	 (4) definite integral 

38. In the case of Cobb-Douglas production function the elasticity of substitution is always equal 
to : 
(1) 	0 	 (2) 	1 	 (3) 	2 	 (4) 	oc 

39. Which of the following is associated with endogenous growth theory ? 
(1) Robert Solow 	 (2) Robert Lucas 
(3) Roy Harrod 	 (4) Joan Robinson 

40. The correlation coefficient of a regression model is given by 0.8. The coefficient of 
determination is given by (approx) : 
(1) 	0.8 	 (2) 	0.6 	 (3) 	0.2 	 (4) 	1.0 
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SECTION - C 

41. What are the major components of a research proposal ? Write a research proposal on 10 
a topic of your choice in about 500 words. 

42. Consider the following Keynesian Macroeconomic model. 	 10 
Goods market : 
National income identity : Y=C+I+G+X–Z 

Consumption function : C = 200 + 0.8 (Y – T) 

Investment function : I =100 – 200 r 

Import function : Z = 0.2 Y 

Exogenous variables : T =100, G =100, X =100 

Money market : 

Demand for money : —p  = 0.5Y-100r 

Supply of money : M = 400 

Assume price (P) to be constant at 1. 

(a) Find the IS and LM curves. 

(b) Find equilibrium level of output (Y) and interest rate (r). 

(c) Suppose the government fixes the interest rate at r = 0.05. What will be the values 
of consumption (C), investment (I), Exports (X), trade gap (X – Z) and budget 
gap (T – G) if you consider goods market equilibrium only ? 

OR 

1 0 1 

For the matrix A = 0 1 1 

1 1 2 

(a) Write the characteristic equation and find the characteristic roots. 	 3 

(b) Find the eigen vectors corresponding to the characteristic equation. 	 4 
(c) Diagonalise A. 	 3 

- o 0 o - 
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(a) IS 3 LM act) 	I 

(b) 374 (Y) 	0;411 ■sl 	(r) fTird9 141-i 4.110 	I 

(c) kit*R seiNi 	r 	0.05* fli-11-1 fffzia. 	d1 t I t-d" . 	011•1k 	Ti 

WM.  ktg 	3711)Tr (c), feavr 	fizifu (x), c44141t 3T-7T-ff 	- 
(T-G)t-gfTi 7Eir 	? 

allrOT 
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-
1 0 1 
0 1 1 "RW alTuF (Matrix) 77 mcillt : A = 
1 1 2 

(a) V-14 3ti9k-ToT 	(1101 fat .ff2TT 	34fiTkiuT iv (Characteristic Root) tic i I 

(b) Ta414"4-ft 	 11T9' molii I 

(c) A "Tf-4-*-tif 	(diagonalise) I 

- 000- 
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